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41 2009 QUADRATIC EQUATIONS 12th March

1. Solve the following quadratic equations:

(a) {Ez =16, (c) 4z = z*,
(b) (z—2)(z+3) =0, (d) 22> —6=0.

2. Solve the quadratic equations by factorisation:
(a) 2 =32 —-28 =0,
(b) 222 =z +1,
(c) 62> +132—-5=0. -

3. What number must placed in the box in order to complete the square?
(a) 2%+ 8z +[ |,
(b) z? -7z 4+ ]

4. Solve the following equations by using the method of completion of squares:
(a) #* ~ 62 -2 =0,
(b) 224+ 82 +1=0.
5. Use the quadratic formula to solve the following equations: |
(a) 32° ~ 22 —7=0,
(b) 102* + 7z -3=0.
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6. Solve the equation z =

7. A number plus twice its reciprocal is equal to 131— . Use an equation to find what the
number could be. ' '
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